
  Area of a triangle 

1 
 

 

1.   Work out the area of the triangle. 

 

 

 

 

 

 

15 × 12

2
= 90 𝑐𝑚2 

 

 

(2 marks) 

 

2.   Work out the area of the triangle. 

 

 

 

 

 

 

 

13 × 9

2
= 58.5 𝑐𝑚2 

 

 

 

(2 marks) 

 

 

12 𝑐𝑚 

15 𝑐𝑚 

9 𝑚𝑚 

13 𝑚𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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3.  Calculate the volume of the triangle. 

 

 

 

 

 

 

15 × 11

2
= 82.5 𝑐𝑚2 

 

 

(3 marks) 

 

4.  Below is a triangle. 

  

 

 

 

 

 

 

  Calculate the area. 

 

10.2 × 8.4

2
= 42.84 𝑐𝑚2 

 

 

 

 

(2 marks) 

 

15 𝑐𝑚 

11 𝑐𝑚 

8.4 𝑐𝑚 

10.2 𝑐𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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5.  Work out the area of the triangle. 

 

 

 

 

 

 

 State the units. 

 

17.1 × 12.6

2
= 107.73 𝑐𝑚2 

 

 

 

 (3 marks) 

 

6.  Work out the area of the triangle. 

  State the units. 

 

 

 

 

 

 

 

6 × 8

2
= 24 𝑐𝑚2 

 

 

 

(3 marks) 

 

 

17.1 𝑚 

10 𝑐𝑚 
6 𝑐𝑚 

8 𝑐𝑚 

12.6 𝑚 𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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7.  Below is a triangle.  

 Find the area of the triangle. 

 

 

 

 

 

 

 

5 × 12

2
= 30 𝑐𝑚2 

 

 

 

(3 marks) 

 

8.  The triangle has an area of 108 𝑐𝑚2. 

  Find the value of 𝑥. 

 

 

 

 

 

 

 

 

𝑥 × 18

2
= 108 𝑐𝑚2 

𝑥 = 12 𝑐𝑚 

 

 

 

(3 marks) 

5 𝑚 
13 𝑚 

12 𝑚 

𝑥 𝑐𝑚 

18 𝑐𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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9.  The area of the triangle is 110.5 𝑚𝑚2. 

 Find 𝑦. 

 

 

 

 

 

 

13 × 𝑦

2
= 110.5 𝑐𝑚2 

𝑦 = 17 𝑐𝑚 

 

(3 marks) 

 

10. The area of the rectangle is the same as the area of the 

 triangle. 

  Find 𝑥. 

 

 

 

 

 

 

   

𝑅𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒: 18 × 7 = 126 𝑐𝑚2 

14 × 𝑦

2
= 126 𝑐𝑚2 

𝑦 = 18 𝑐𝑚 

 

 

(3 marks) 

 

𝑦 𝑚𝑚 

13 𝑚𝑚 

𝑦 𝑐𝑚 

7 𝑐𝑚 

18 𝑐𝑚 

14 𝑐𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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11. Below is a triangle. 

  Draw 2 other triangles with the same area. 

 

            

            

            

            

            

            

            

            

            

            

 

 

 

6 × 3

2
= 9 𝑐𝑚2 

 

 

 

 

 

 

 

 

(3 marks) 

 

𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 
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12. Find the shaded area. 

 

 

 

 

 

 

𝑇𝑟𝑖𝑎𝑛𝑔𝑙𝑒:
10 × 8

2
= 40 𝑐𝑚2 

𝑅𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒: 14 × 22 = 308 𝑐𝑚2 

𝑆ℎ𝑎𝑑𝑒𝑑 𝑎𝑟𝑒𝑎: 308 − 40 = 268 𝑐𝑚2 

(3 marks) 

 

13. Below is a triangle and a rectangle. 

  The rectangle is three times the area of the triangle. 

  Find a possible length and height of the rectangle. 

 

 

 

 

 

 

 

 

 

8 × 12

2
= 48 𝑐𝑚2 

48 × 3 = 144 𝑐𝑚2 

24𝑐𝑚, 6𝑐𝑚 

18𝑐𝑚, 8𝑐𝑚 

36𝑐𝑚, 4𝑐𝑚 

(3 marks) 

14 𝑐𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

10 𝑐𝑚 

8 𝑐𝑚 

22 𝑐𝑚 

12 𝑐𝑚 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

8 𝑐𝑚 
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14. Below is a square. 

 Find the missing area. 

 

 

 

 

 

 

 

12𝑐𝑚2: 1 × 24, 2 × 12, 3 × 8, 𝟒 × 𝟔 

8𝑐𝑚2: 1 × 16, 𝟐 × 𝟖 

32𝑐𝑚2: 1 × 32, 2 × 16, 𝟒 × 𝟖 

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒: 8 × 8 = 64 𝑐𝑚2 

𝐵𝑙𝑢𝑒 𝑎𝑟𝑒𝑎: 64 − 8 − 16 − 12 = 28 𝑐𝑚2 

(4 marks) 

 

15. Four isosceles triangles tessellate to create this pattern. 

 

 

 

 

 

  The total area of the shape is 144𝑐𝑚2. 

  Find the length of the base of one of the triangles. 

 

1 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒: 144 ÷ 3 = 48 𝑐𝑚2 
8 × 𝑏𝑎𝑠𝑒

2
= 48 𝑐𝑚2 

 

𝐵𝑎𝑠𝑒 = 12 𝑐𝑚 

 

 

(3 marks) 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 

8 𝑐𝑚2 

16 𝑐𝑚2 

12 𝑐𝑚2 

𝑁𝑂𝑇 𝐷𝑅𝐴𝑊𝑁 𝑇𝑂 𝑆𝐶𝐴𝐿𝐸 8 𝑐𝑚 


